



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(3 - \frac{2}{5})^2 - \frac{1}{2} - 4^2 + \frac{1}{2} =$$

$$(4 + \frac{3}{4})^2 - \frac{1}{2} \times \frac{1}{2} \times 3^2 =$$

$$(\frac{1}{3} - \frac{1}{2})^2 - \frac{1}{6}(\frac{1}{3} - \frac{1}{2}) =$$

$$(\frac{1}{5} + \frac{3}{5})^2 + \frac{1}{2}(\frac{1}{4} + \frac{3}{2}) =$$

$$(5 + \frac{1}{2})^2 + \frac{1}{3} - \frac{3}{5} \times 4^2 =$$

$$((\frac{3}{5})^2 - \frac{1}{5}) \times \frac{1}{5} - (\frac{1}{3} - \frac{3}{5})^2 =$$

$$(3 + \frac{1}{6})^2 - \frac{3}{2} \times 3^2 + \frac{3}{2} =$$

$$(\frac{1}{3} - \frac{1}{5})^2 + \frac{1}{2}(\frac{3}{4} - \frac{1}{2}) =$$

$$(\frac{1}{2} + \frac{1}{3})^2 + \frac{1}{3}(\frac{3}{4} - \frac{3}{2}) =$$

$$(\frac{1}{6} - \frac{2}{3})^2 - \frac{2}{5}(\frac{3}{5} + \frac{3}{5}) =$$



Name: \_\_\_\_\_

Date: \_\_\_\_\_ Score: \_\_\_\_\_

$$(3 - \frac{2}{5})^2 - \frac{1}{2} - 4^2 + \frac{1}{2} = (-\frac{231}{25}) = (-9\frac{6}{25})$$

$$(4 + \frac{3}{4})^2 - \frac{1}{2} \times \frac{1}{2} \times 3^2 = \frac{325}{16} = 20\frac{5}{16}$$

$$(\frac{1}{3} - \frac{1}{2})^2 - \frac{1}{6}(\frac{1}{3} - \frac{1}{2}) = \frac{1}{18}$$

$$(\frac{1}{5} + \frac{3}{5})^2 + \frac{1}{2}(\frac{1}{4} + \frac{3}{2}) = \frac{303}{200} = 1\frac{103}{200}$$

$$(5 + \frac{1}{2})^2 + \frac{1}{3} - \frac{3}{5} \times 4^2 = \frac{1259}{60} = 20\frac{59}{60}$$

$$((\frac{3}{5})^2 - \frac{1}{5}) \times \frac{1}{5} - (\frac{1}{3} - \frac{3}{5})^2 = (-\frac{44}{1125})$$

$$(3 + \frac{1}{6})^2 - \frac{3}{2} \times 3^2 + \frac{3}{2} = (-\frac{71}{36}) = (-1\frac{35}{36})$$

$$(\frac{1}{3} - \frac{1}{5})^2 + \frac{1}{2}(\frac{3}{4} - \frac{1}{2}) = \frac{257}{1800}$$

$$(\frac{1}{2} + \frac{1}{3})^2 + \frac{1}{3}(\frac{3}{4} - \frac{3}{2}) = \frac{4}{9}$$

$$(\frac{1}{6} - \frac{2}{3})^2 - \frac{2}{5}(\frac{3}{5} + \frac{3}{5}) = (-\frac{23}{100})$$